CHRISTMAS MEDLEY
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he | North wind is toss- ing the | leaves, he red dust is ov-er the M the
The | tree femns in green gul- lies | sway, the | cool stream flowssi- lent- Iy, | by. The
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spar- rowsare un- der the| eaves the grass . in the paddock is brown As  we
joy bells are greet-ingthe| day and the chimes_ are a- drift in the sky.
Part [ N | N
e S — L Lo 3 = >
P%ﬁ‘ 117 1' N y N T ] ?\ 1.8 =~ 1 4'7 } 1
T 17 l\, % — ‘} 1 K 1 1
lift up voi- ces and sing to the Christ child the hea- ven- Iy King.____
ﬁi‘f—i M M_. & !ID !D.' d. j—-—. -
¢ — —
- s e S S a—F— — I — :
- ; 1 - a—) ; 1 193 ’ ' ’ ’ 3 j—’__-H_‘__kij__
Ci- ty | side walks, bu- sy | side walks dressedin | hol- i- day style In the air there's a
String of | street lights, e- ven| stop lights blink a bright red and green.  As the i\op-pers rush
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feel- ing of | Christ- rﬁ} E‘h"d' {ﬁ: laugh-ing — Meet- ing smile aft- er
home with their| treas- ures] ear SNOW crunch ) This is San- ta's big
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smile. ~ And on ev- 'y street| cor- ner you | hear] Si- ver bels | s bell
scene And a- ve all thls bust- le  you| hear | 0o 0o QOd ~— Sil- ver bells
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Sil- ver bells] Its Christ-mas | time in the| cit Y__| Ring-a-ling {
Sil- ver bells Oo j-o io Ring-a-ling
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hear them ring__| Hearthem ring Soon it will be Christ-mas da)’____t_i
Christ-mas| day.
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